2016\ AWA 9F 23 ANY oA
01. . 02.® 03. @ 04. ©® O05. 06. @ 07.® 08. @ 09. ® 10. @
11. ® 12. @ 13. ® 14. ® 15. @ 6. ®@ 17.® 18. ® 19. ® 20. @

1. [BE] ®
429 42" = 42Tt =3 x 7=291
a+b=1logy21

2. [88]1 ®
AAB={4,7}
(AAB)AC=13,4,5}
3+4+5=12

w
| |
oX
e
[ -1

{z|z =—2}oct.

yly =—1}oct.

A (2, 1)e A
A4AFEH S RUA] o

[ rlo .2

I

4. [BE] ©
a+b<0, a—b>0oloz

Vet~V (a—b=(a+b)—(a—b) =

5 [d%¥]
D F@) =2, f8)=3 /@) = /W
@ lim f(z)=3. lim f(z) =2c122 lim f(z)& EAst ae

z—2+0 z—2—0 T2
® lim f(z)=1, lim f(z)=10l22 |im f(z)= &3t
z—1+0 r—1—0 z—1

@ 0<z <694 f(x)7t A4 AP =1, 2, 49 37Hc}.

29| : http://wirebox.tistory.com




7. [B8] @
(x)==z 2 tar+ba —‘g—g

1 14
(x +am+b dx=2 (x -I-b +b
1 3 3

2b=4, b=2
1

~~

~

2
x(z +ax+2 de =2 f andx—ga—Q
—1
a=3
fx)=2+3z+2, f(2)=2"+3-2+2=12
8. [BE8] @
2 —8r+16+y* —6y+9 =10

(r—4)+(y—3)*=10
o] =4 (4, 3)nr A A(—2, —1)Atolo] Azle=

V(A= (=2)2+3B—(—1))= V6> +4>= /52 =2/13 o]},

M=2/13+ 10
m:2\/ﬁ—\/ﬁ
= (2113 4+ v10)(2V/13 — V/10) =52 —10 = 42

]
=(z*—4)Qx)+z+3
5. f(=2)=1

~

(z—2)f(x)2 r+22 e Uori= (—2-2)f(—2) =—4f(—

10. [BE] @
@ a, =n* b, =nolH ZFojxl WAL UK tir},
@ ¢, =a,—bolstd b, =a,—c,0lB=

limb, =lim (a,—¢,) =lima, —limc, =1—0=1oJc}.

n—>00 n—>00 n—>00 n—>00

1

1
@ a,=1——- b, =1+ —ol8l Foitl YAl YU ghert.
AN 1 L 5 1=
® a, = b, =nol® Foitl YxlE YU grech
29|

2) =—4x1=—4

I http://wirebox.tistory.com



11. [FE]

()i Y0 A0 =) (Vo dn )

n—00 n—>0
dn 4

=]im =-=2
n—00 \/n2+4n +n 2

12. [BE]
1+i  (1+4) 2i

=i -0+ =2 ¢

\/n2+4n +n

’ino] A7t B2 g she ne 2,4,6,8,109 5710t

13. [BE] ®

Ash Mg Rold Azete vjdsts 399 2t 4!

Agt Mo] At2)7t ob 4 9looz E

14. [BEB] ®
o’B—aff = afla—p)

— 2_ . o (—
aﬁ:%:_l’ a_ﬁ:2\/1 4-2-(=2)

15. [BE] ©
gt)=rf"(t)=3t"+6t—1
g(t)=3t*+2t+1)—4
g(t)=3(t+1)*—4
mepd Al4ghe —4olct,

Q0] i 2 4l=487}x|o]c},

29| : http://wirebox.tistory.com



16. [§€] @

a=bole} 717gst#

3a="b" :OLQOIEE a2—3a=a(a—3):()o]q_
a=00]" b=00]22 0<b<lojgt=
a=30]" b=30]22 0<b<lojgte
a = b0zt 7PgstA

=]

0
b

ol

E:t

B

2
o
&L

EI‘IO

1
3a=b=3b"=boloz 3b°—b =3b(b— E)ZOOIUL

0<b<lolmzg bZ%O]D}. w2t A aZbZZ%O]D}.

17. [BE] ®

2> —2ax+2a =0

%: 2—24<0
ala—2) <0
0<a<?2
a=0,1,2 37

18. [BEB]1 ®
1+a+b=0, a=—b—1

2
. x—b+1)x+b . z—b)x—1

lim ( _) =l ( )_( )=1 b=3
z—1 x—1 z—1 x—1

b=—2, a=1

atb=1-2=—1

19. [BE] ©

1 e . P
hmﬁ/ (2013t2—2014¢ — 2015 )dt =]im
2

—2 —2 x—2
2013 =t= x|&stH
Ff2)=4t—2(t+1)—(t+2)=t—4=2009

29| : http://wirebox.tistory.com



20. [B€]1 @

C
P(AIBC)z%Oﬂ/\i As} B} wjstaprolnz P(ANBY) =P (A)olc}.
P(ANBY) _ P(4) 1 c 1 2
pP(A4|BY)= = =— P(BY) =4P(A)=4x ===
(41 B9) b (50 o (50 1 (B°) (A) 573
(RO _q_2_1
P(B)=1-P(B%) =1 5=3
1
P(BNAY)  P(B) 3 9
P(BlA4%)= = = =
P(AC) P | 1 b
6

29| : http://wirebox.tistory.com



